BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE OAKWOOD ESTATES SECTION 5 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, HARRIS COUNTY, TEXAS MAY 13, 2025 LIA ENGINEERING, INC. A. GUIJOSA MAY 13, 2025 2990-0015 (9.2)

BIDDER NAME	BASE BID	
1) HURTADO CONSTRUCTION COMPANY	\$788,888.88	
2) DURWOOD GREENE CONSTRUCTION CO.	\$790,441.75	
3) DACO PAVING, INC.	\$851,000.00	
4) BEYER CONSTRUCTION, LLC	\$923,751.10	
5) PRECISE SERVICES INC.	\$936,465.55	
6) PARK CONSTRUCTION ASSOCIATES, LLC	\$956,161.71	

CALENDAR DAYS 30/45



I, Kirsten K. Wilson, PE, hereby certify these bid tabulations to be true and correct.

nú*

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE OAKWOOD ESTATES SECTION 5 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, HARRIS COUNTY, TEXAS MAY 13, 2025 LIA ENGINEERING, INC. A. GUIJOSA MAY 13, 2025 2990-0015 (9.2)

				1) HURTADO CONSTRUCTION COMPANY		2) DURWOOD GREENE CONSTRUCTION CO.		3) DACO PAVING, INC.		4) BEYER CONSTRUCTION, LLC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
PAVING ITEMS 1. 6" REINFORC	ED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	9363	\$55.00	\$514,965.00	\$51.00	\$477,513.00	\$50.00	\$468,150.00	\$51.95	\$486,407.85
2. 8" LIME/FLY	ASH STABILIZED SUBGRADE, COMPLETE IN PLACE	SY	9987	\$2.98	\$29,761.26	\$6.25	\$62,418.75	\$4.50	\$44,941.50	\$3.75	\$37,451.25
BY WEIGHT, 2	IME FOR 8" STABILIZED SUBGRADE PREPARATION (4% LIME 20LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND Y GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	132	\$368.00	\$48,576.00	\$391.00	\$51,612.00	\$360.00	\$47,520.00	\$369.00	\$48,708.00
36LB/SY), (AS	8″ STABILIZED SUBGRADE (8% FLY-ASH BY WEIGHT, 5 REQUIRED BY SOIL CONDITIONS AND APPROVED BY AL ENGINEER), COMPLETE IN PLACE	TON	264	\$140.00	\$36,960.00	\$45.00	\$11,880.00	\$150.00	\$39,600.00	\$115.00	\$30,360.00
5. 4" X 12" REIN	IFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	2696	\$4.28	\$11,538.88	\$4.00	\$10,784.00	\$4.50	\$12,132.00	\$5.00	\$13,480.00
6. 6" REINFORC	ED CONCRETE CURB, COMPLETE IN PLACE	LF	2979	\$4.28	\$12,750.12	\$4.00	\$11,916.00	\$4.50	\$13,405.50	\$5.00	\$14,895.00
7. ROADWAY EX	XCAVATION, COMPLETE IN PLACE	CY	1800	\$4.00	\$7,200.00	\$4.00	\$7,200.00	\$5.40	\$9,720.00	\$4.75	\$8,550.00
8. ROADWAY EI	MBANKMENT, COMPLETE IN PLACE	СҮ	1520	\$4.00	\$6,080.00	\$4.00	\$6,080.00	\$0.30	\$456.00	\$4.75	\$7,220.00
	OPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING CONCRETE PAVEMENT, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$700.00	\$700.00	\$450.00	\$450.00	\$1,500.00	\$1,500.00
10. REMOVE AND COMPLETE IN	D OFFSITE DISPOSAL OF EXISTING TYPE III BARRICADE, N PLACE	EA	1	\$0.02	\$0.02	\$10.00	\$10.00	\$1.00	\$1.00	\$30.00	\$30.00
AREAS), INCL PLACEMENT	OT GRADING (LOTS, RESERVES, AND FINAL DRESSING OF ALL UDING STRIPPING AND PROOF ROLLING, HAULING, AND COMPACTION OF MATERIALS, AND REPLACEMENT OF COMPLETE IN PLACE	LS	1	\$20,112.80	\$20,112.80	\$12,000.00	\$12,000.00	\$13,500.00	\$13,500.00	\$16,000.00	\$16,000.00
12. FINAL GRADI	NG OF RIGHT-OF-WAY, COMPLETE IN PLACE	LS	1	\$3,000.00	\$3,000.00	\$4,800.00	\$4,800.00	\$3,000.00	\$3,000.00	\$6,000.00	\$6,000.00
13. FINAL GRADI	NG OF BOUNDARY SWALE, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$12,900.00	\$12,900.00	\$13,500.00	\$13,500.00	\$46,150.00	\$46,150.00
	ILL AND LOT DRESS UP AFTER INSTALLATION OF STAGE II DRY DMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$6,000.00	\$6,000.00
SUBTOTAL PAVING IT					\$697,944.08		\$674,813.75		\$667,376.00	_	\$722,752.10
BUTTONS, PA	/S TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC VXMENT STRIPING, MARKERS, REFLECTIVE PAINT ON SES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$15,000.00	\$15,000.00	\$5,300.00	\$5,300.00	\$8,000.00	\$8,000.00	\$6,500.00	\$6,500.00
OF THE PROJ	TRAFFIC CONTROL DEVICES AS NEEDED FOR THE DURATION ECT, (FLAGGERS, CONES, ETC.), PER TMUTCD, INCLUDES N, MAINTENANCE, AND REMOVAL, COMPLETE IN PLACE	LS	1	\$8.00	\$8.00	\$100.00	\$100.00	\$625.00	\$625.00	\$1,500.00	\$1,500.00
	CE AND REMOVAL UPON COMPLETION OF STABILIZED ON EXIT, COMPLETE IN PLACE	EA	1	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$2,100.00	\$2,100.00
	RUCK WASHOUT, INCLUDING INSTALLATION, CE, AND REMOVAL, COMPLETE IN PLACE	EA	1	\$800.00	\$800.00	\$1,500.00	\$1,500.00	\$750.00	\$750.00	\$2,500.00	\$2,500.00
	ER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES URCE CONTROLS, COMPLETE IN PLACE	LS	1	\$800.00	\$800.00	\$1,500.00	\$1,500.00	\$6,000.00	\$6,000.00	\$2,500.00	\$2,500.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE OAKWOOD ESTATES SECTION 5 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, HARRIS COUNTY, TEXAS MAY 13, 2025 LJA ENGINEERING, INC. A. GUIJOSA MAY 13, 2025 2990-0015 (9.2)

A JOB	NO.		29	2990-0015 (9.2)									
				1) HURTADO CONST	RUCTION COMPANY	2) DURWOOD GREEN	E CONSTRUCTION CO.	3) DACO PA	VING, INC.	4) BEYER CONST	RUCTION, LLC		
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL		
6	4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FLUSHING VALVE LOCATION, COMPLETE IN PLACE	EA	8	\$18.00	\$144.00	\$20.00	\$160.00	\$18.00	\$144.00	\$8.00	\$64.00		
7	ADA RAMPS, PER ADA RAMP DETAILS TYPE 7, COMPLETE IN PLACE	EA	6	\$1,388.00	\$8,328.00	\$1,600.00	\$9,600.00	\$1,500.00	\$9,000.00	\$1,550.00	\$9,300.00		
8	EXTRA CEMENT STABILIZED SAND (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	СҮ	10	\$10.00	\$100.00	\$10.00	\$100.00	\$45.00	\$450.00	\$10.00	\$100.00		
9	EXTRA REINFORCED FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$2.00	\$200.00	\$2.50	\$250.00	\$1.85	\$185.00		
10	EXTRA HYDROMULCH SEEDING, COMPLETE IN PLACE	AC	1	\$100.00	\$100.00	\$150.00	\$150.00	\$2,200.00	\$2,200.00	\$1,500.00	\$1,500.00		
11	EXTRA BROADCAST SEEDING, COMPLETE IN PLACE	AC	1	\$50.00	\$50.00	\$50.00	\$50.00	\$1,200.00	\$1,200.00	\$650.00	\$650.00		
12	EXTRA FLY-ASH FOR 6" STABILIZED SUBGRADE (8% FLY-ASH BY WEIGHT, 36LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	10	\$10.00	\$100.00	\$10.00	\$100.00	\$150.00	\$1,500.00	\$115.00	\$1,150.00		
13	EXTRA HYDRATED LIME FOR 6" STABILIZED SUBGRADE PREPARATION (4% LIME BY WEIGHT, 20LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	10	\$10.00	\$100.00	\$10.00	\$100.00	\$360.00	\$3,600.00	\$369.00	\$3,690.00		
14	BROADCAST SEEDING AND FINE GRADING, INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	10	\$1.00	\$10.00	\$50,00	\$500.00	\$1,200.00	\$12,000.00	\$1,250.00	\$12,500.00		
15	HYDROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	7	\$100.00	\$700.00	\$150.00	\$1,050.00	\$2,200.00	\$15,400.00	\$3,150.00	\$22,050.00		
16	REMOVE & OFFSITE DISPOSAL OF EXISTING ASPHALT DRIVEWAY, INCLUDES BASE, COMPLETE IN PLACE	SY	149	\$10.00	\$1,490.00	\$22.00	\$3,278.00	\$34.00	\$5,066.00	\$30.00	\$4,470.00		
17	THERMOPLASTIC CROSSWALK STRIPING FOR ALL CROSSWALKS, PER CITY OF WALLER, COMPLETE IN PLACE	LS	1	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$1,229.00	\$1,229.00	\$2,000.00	\$2,000.00		
18	6" P.V.C. ELECTRICAL SLEEVE, SCHEDULE 40 INCLUDES RISERS, PVC END CAPS, CEMENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN PLACE	LF	120	\$32.88	\$3,945.60	\$40.00	\$4,800.00	\$62.00	\$7,440.00	\$48.00	\$5,760.00		
19	6" P.V.C. IRRIGATION SLEEVE, SCHEDULE 40 INCLUDES RISERS, PVC END CAPS, CEMENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN PLACE	LF	240	\$32.88	\$7,891.20	\$40.00	\$9,600.00	\$60.00	\$14,400.00	\$48.00	\$11,520.00		
20	18'X8'X18" REINFORCED CONCRETE MAILBOX PAD, COMPLETE IN PLACE	EA	1	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00	\$2,300.00	\$2,300.00	\$2,800.00	\$2,800.00		
21	TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$1,450.00	\$1,450.00	\$1,500.00	\$1,500.00		
22	WOOD MATS AT LOCATIONS WHERE THE CONTRACTOR CROSSES EXISTING PIPELINES, AS REQUIRED BY EACH PIPELINE'S REPRESENTATIVES, COMPLETE IN PLACE	LS	1	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00		
23	REMOVE AND OFFSITE DISPOSAL OF EXISTING 18" STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	LF	26	\$3.00	\$78.00	\$40.00	\$1,040.00	\$70.00	\$1,820.00	\$60.00	\$1,560.00		
24	PLACEMENT OF MATERIAL STOCKPILED ONSITE TO FINAL GRADE, INCLUDES EXCAVATION, HAUL, PLACEMENT, GRADING AND COMPACTION, COMPLETE IN PLACE	СҮ	14000	\$3.00	\$42,000.00	\$4.00	\$56,000.00	\$5.70	\$79,800.00	\$7.15	\$100,100.00		
тот	AL MISCELLANEOUS ITEMS			—	\$90,944.80	-	\$115,628.00	—	\$183,624.00	—	\$200,999.00		

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO.	HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, HARRIS COUNTY, TEXAS ING DOCATION: MAY 13, 2025 ING LOCATION: LIA ENGINEERING, INC. ON BY: ALGORD										C+
				1) HURTADO CONS	STRUCTION COMPANY	2) DURWOOD GREE	NE CONSTRUCTION CO.	3) DACO	PAVING, INC.	4) BEYER CONSTR	RUCTION, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BID SUMMARY											
PAVING ITEMS					\$697,944.08		\$674,813.75		\$667,376.00		\$722,752.10
MISCELLANEOUS ITEMS					\$90,944.80		\$115,628.00		\$183,624.00		\$200,999.00
TOTAL AMOUNT BASE BID				Ċ	\$788,888.88	0	\$790,441.75		\$851,000.00		\$923,751.10

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE OAKWOOD ESTATES SECTION 5 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, HARRIS COUNTY, TEXAS MAY 13, 2025 LIA ENGINEERING, INC. A. GUIJOSA MAY 13, 2025 2390-0015 (9.2)

TABULAT	ION DATE: IO.			VAY 13, 2025 990-0015 (9.2)				
			Γ	5) PRECISE S	ERVICES INC.	6) PARK CONSTRUCT	TION ASSOCIATES, LLC	G*
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	
PAVING	TEMS 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE		0262	ćr1 75	¢494 525 25		¢524,228,00	
	·	SY	9363	\$51.75	\$484,535.25	\$56.00	\$524,328.00	
2.	8" LIME/FLY ASH STABILIZED SUBGRADE, COMPLETE IN PLACE	SY	9987	\$6.65	\$66,413.55	\$3.15	\$31,459.05	
	HYDRATED LIME FOR 8" STABILIZED SUBGRADE PREPARATION (4% LIME BY WEIGHT, 20LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	132	\$345.00	\$45,540.00	\$345.00	\$45,540.00	
	FLY-ASH FOR 8" STABILIZED SUBGRADE (8% FLY-ASH BY WEIGHT, 36LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	264	\$135.00	\$35,640.00	\$150.00	\$39,600.00	
5.	4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	2696	\$4.15	\$11,188.40	\$3.15	\$8,492.40	
6.	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	2979	\$4.15	\$12,362.85	\$3.15	\$9,383.85	
7.	ROADWAY EXCAVATION, COMPLETE IN PLACE	CY	1800	\$3.50	\$6,300.00	\$6.00	\$10,800.00	
8.	ROADWAY EMBANKMENT, COMPLETE IN PLACE	CY	1520	\$4.00	\$6,080.00	\$6.00	\$9,120.00	
	CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	EA	1	\$1,300.00	\$1,300.00	\$500.00	\$500.00	
	REMOVE AND OFFSITE DISPOSAL OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$100.00	\$100.00	\$1.00	\$1.00	
	COMPLETE LOT GRADING (LOTS, RESERVES, AND FINAL DRESSING OF ALL AREAS), INCLUDING STRIPPING AND PROOF ROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS, AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$12,500.00	\$12,500.00	\$15,000.00	\$15,000.00	
12.	FINAL GRADING OF RIGHT-OF-WAY, COMPLETE IN PLACE	LS	1	\$25,000.00	\$25,000.00	\$5,000.00	\$5,000.00	
13.	FINAL GRADING OF BOUNDARY SWALE, COMPLETE IN PLACE	LS	1	\$37,500.00	\$37,500.00	\$5,000.00	\$5,000.00	
	CURB BACKFILL AND LOT DRESS UP AFTER INSTALLATION OF STAGE II DRY UTILITIES, COMPLETE IN PLACE	LS	1	\$5,800.00	\$5,800.00	\$5,000.00	\$5,000.00	
SUBTOT	AL PAVING ITEMS				\$750,260.05	-	\$709,224.30	
1.	ANEOUS ITEMS PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$8,550.00	\$8,550.00	\$4,400.00	\$4,400.00	
	TEMPORARY TRAFFIC CONTROL DEVICES AS NEEDED FOR THE DURATION OF THE PROJECT, (FLAGGERS, CONES, ETC.), PER TMUTCD, INCLUDES INSTALLATION, MAINTENANCE, AND REMOVAL, COMPLETE IN PLACE	LS	1	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	
	MAINTENANCE AND REMOVAL UPON COMPLETION OF STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$7,500.00	\$7,500.00	
	CONCRETE TRUCK WASHOUT, INCLUDING INSTALLATION, MAINTENANCE, AND REMOVAL, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00	
	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS, COMPLETE IN PLACE	LS	1	\$1,500.00	\$1,500.00	\$4,500.00	\$4,500.00	

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE OAKWOOD ESTATES SECTION 5 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, HARRIS COUNTY, TEXAS MAY 13, 2025 LIA ENGINEERING, INC. A. GUIJOSA MAY 13, 2025 2390-0015 (9.2)

				5) PRECISE SE	RVICES INC.	6) PARK CONSTRUCTION ASSOCIATES, LL	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
6. 4	" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR LUSHING VALVE LOCATION, COMPLETE IN PLACE	EA	8	\$20.00	\$160.00	\$10.00	\$80.00
7. A	DA RAMPS, PER ADA RAMP DETAILS TYPE 7, COMPLETE IN PLACE	EA	6	\$1,600.00	\$9,600.00	\$1,400.00	\$8,400.00
	XTRA CEMENT STABILIZED SAND (2.0 SACKS PER TON), (TO BE USED NLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	10	\$10.00	\$100.00	\$10.00	\$100.00
	XTRA REINFORCED FILTER FABRIC FENCE (TO BE USED ONLY AS IRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$2.00	\$200.00	\$1.00	\$100.00
10. E)	XTRA HYDROMULCH SEEDING, COMPLETE IN PLACE	AC	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
11. E)	XTRA BROADCAST SEEDING, COMPLETE IN PLACE	AC	1	\$1,250.00	\$1,250.00	\$2,000.00	\$2,000.00
30	XTRA FLY-ASH FOR 6° STABILIZED SUBGRADE (8% FLY-ASH BY WEIGHT, 6LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY EOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	10	\$135.00	\$1,350.00	\$150.00	\$1,500.00
LI	XTRA HYDRATED LIME FOR 6" STABILIZED SUBGRADE PREPARATION (4% IME BY WEIGHT, 20LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND PPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	10	\$345.00	\$3,450.00	\$345.00	\$3,450.00
W	ROADCAST SEEDING AND FINE GRADING, INCLUDES FERTILIZING AND JATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS IRECTED BY ENGINEER), COMPLETE IN PLACE	AC	10	\$1,250.00	\$12,500.00	\$3,000.00	\$30,000.00
A	YDROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO CHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY NGINEER), COMPLETE IN PLACE	AC	7	\$2,500.00	\$17,500.00	\$3,500.00	\$24,500.00
	EMOVE & OFFSITE DISPOSAL OF EXISTING ASPHALT DRIVEWAY, NCLUDES BASE, COMPLETE IN PLACE	SY	149	\$19.50	\$2,905.50	\$114.09	\$16,999.41
	HERMOPLASTIC CROSSWALK STRIPING FOR ALL CROSSWALKS, PER CITY F WALLER, COMPLETE IN PLACE	LS	1	\$2,000.00	\$2,000.00	\$10,000.00	\$10,000.00
C.	" P.V.C. ELECTRICAL SLEEVE, SCHEDULE 40 INCLUDES RISERS, PVC END APS, CEMENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN LACE	LF	120	\$53.00	\$6,360.00	\$60.00	\$7,200.00
C.	" P.V.C. IRRIGATION SLEEVE, SCHEDULE 40 INCLUDES RISERS, PVC END APS, CEMENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN LACE	LF	240	\$53.00	\$12,720.00	\$60.00	\$14,400.00
20. 18	8'X8'X18" REINFORCED CONCRETE MAILBOX PAD, COMPLETE IN PLACE	EA	1	\$4,800.00	\$4,800.00	\$2,500.00	\$2,500.00
21. T	YPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1,450.00	\$1,450.00	\$1,400.00	\$1,400.00
E)	VOOD MATS AT LOCATIONS WHERE THE CONTRACTOR CROSSES XISTING PIPELINE'S EPRESENTATIVES, COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00	\$7,500.00	\$7,500.00
	EMOVE AND OFFSITE DISPOSAL OF EXISTING 18" STORM SEWER, ALL EPTHS, COMPLETE IN PLACE	LF	26	\$35.00	\$910.00	\$208.00	\$5,408.00
IN	LACEMENT OF MATERIAL STOCKPILED ONSITE TO FINAL GRADE, ICLUDES EXCAVATION, HAUL, PLACEMENT, GRADING AND OMPACTION, COMPLETE IN PLACE	СҮ	14000	\$5.85	\$81,900.00	\$6.00	\$84,000.00
TOTAL	MISCELLANEOUS ITEMS				\$186,205.50		\$246,937.41

She was a start of the start of

BID TABULATION FOR: CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE OAKWOOD ESTATES SECTION 5 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, HARRIS COUNTY, TEXAS BID OPENING DATE: MAY 13, 2025 BID OPENING LOCATION: LIA ENGINEERING, INC. TABULATION BY: A. GUIJOSA TABULATION DATE: MAY 13, 2025 LJA JOB NO. 2990-0015 (9.2) 5) PRECISE SERVICES INC. 6) PARK CONSTRUCTION ASSOCIATES, LLC

UNIT

QTY

UNIT COST

NO.

BID SUMMARY

MISCELLANEOUS ITEMS

ITEM DESCRIPTION

\$186,205.50	\$246,937.41	
\$186,205.50 \$936,465.55	\$246,937.41 \$956,161.71	Ó

TOTAL

\$750,260.05

UNIT COST

TOTAL

\$709,224.30